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(defvar digits (make-array 9))
(defvar N 9)
(defun init-digits

(setq digits #(1 23 456 7 8 9)))
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goooo

(defun find-solution ()
(init-digits)
(dotimes (i (factorial 9))
(when (= (add-three-rationals) 1)
(print-result)
(return))

(next-permutation)))
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(defun factorial (m)
(if (zerop n) 1 (* n (factorial (1- n)))))
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(defun a-by-bc (a b c)
(/ a (+ (* 10 b) <))
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(defun add-three-rationals ()
(let ((sum 0))
(do ((1 0 (+ 3 1))) ((> i 6) sum)
(incf sum (a-by-bc (aref digits (+ i 2))
(aref digits (+ i 0))
(aref digits (+ i 1)))))))
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(defun print-result ()
(format t "“d/"d"d + “d/"d"d + ~d/~d"d = 1"
(aref digits 2) (aref digits 0) (aref digits 1)
(aref digits 5) (aref digits 3) (aref digits 4)
(aref digits 8) (aref digits 6) (aref digits 7)))
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(defvar N1 (1- N))

uboooooboooooboboooooboboooogn

(defun next-permutation ()
(let ((i (1- N1)) (j N1))
(loop (when (< (aref digits i) (aref digits (1+ 1i)))
(return))
(decf 1))
(loop (when (> (aref digits j) (aref digits i))
(return))
(decf j))
(swap i j)
(incf i) (setq j N1)
(loop (when (>= i j) (return))
(swap i j)
(incf i) (decf j))))

(defun swap (i j)
(let ((x (aref digits j)))
(setf (aref digits j) (aref digits i))
(setf (aref digits i) x)))
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0000000000000000000000000

>(find-solution)
9/12 + 5/34 + 7/68 = 1
NIL
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>(time (find-solution))
9/12 + 5/34 + 7/68 = 1
real time : 119.283 secs
run time : 102.767 secs
NIL
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(defun next-permutation ()
(let ((i (1- N1)) (j N1))
(loop (when (or (minusp i)
(< (aref digits i) (aref digits (1+ 1))))
(return))
(decf 1))
(when (minusp i)
(init-digits) (return-from next-permutation))
(loop (when (> (aref digits j) (aref digits i))
(return))
(decf j))
(swap i j)
(incf i) (setq j N1)
(loop (when (>= i j) (return))
(swap i j)
(incf i) (decf j))))
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